Principles of Math 12

Name:
Trigonometry Review Assignment:
1. Convert 100° to radians.
A.018  B.0.57 D. 5.66
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2. Give the period of y=2 sec(x)
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3. Determine the exact value of tan 2% I::\m‘
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4. Give the range of y =—5sin—x +8
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A. 3<y<8 C.-13<y<-3 D. -13<y<I3
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5. Simplify 4-8sin2(6x)

A. cos12x  B. 2cos6x C. 4cos 6x | D. 4cos 12x
Cosdo = |- Asin

4= gsipt(ex) = 4 (1=2si(e) o= cx
= 4CDSE(69C))
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6. Determine an equation of an asymptote of y= -2 tan x

A. x=m/4 Bx= /2 C. x=m D. x=2n

Y= tanx Y= = 2anx l':b -y = Tonx
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0<x<2m
A. 0, 1.56 (B. 1.11_,2.77)C. 3.44,6.11 D. 0,3.14, 6.28
lj“__gl(‘.7( fj_lg_( ﬁr&rh;hﬁ QQ.[C
Intersection f?c"_.ﬂ”t‘;
ot e sl 237

At a seaport, the water has a maximum depth of 18 m at 3:00 am. After this maximum depth, the
first minimum depth of 4 m occurs at 9:30 am. Assume that the relation between the depth, Z
metres, and the time, 7 hours, is a sinusoidal function. Determine an equation for A at any time 7.
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COS ZTC ——— 6.5

D. h—llcos2n@+7

Point P is the intersection of the terminal arm of angle 0 in standard position and the unit circle with
centre (0, 0). If Pis in quadrant 3 and cos® = m, determine the coordinates of P in terms of m.
Cos®=m

Cos® = x




Determine the number of solutions in the interval 0<x<2r for:

10.
sin (ax) = 0.5, where a is an integer and a>1
A. 2 B. a2 C. a D. 2a
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a) Solve algebraically, giving exact values for x, where 0<x<2.

2cos’ x—cosx =1
X =0 & 4T
b) Give the general solution for this equation. (Solve over the set of real numbers, giving
exact value solutions.)

QCOSJX - QoS =/
Acost — CoSax - =o

(QCD‘B x +i')(Ca<3)c - l) -0

Qcos 9c+ | =0 or CoSxX— [ =0
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12.  Prove the identity: ~——————=COt
1+5in6 tos O
Sind (Cog@ + CoSG\ :
I 0 Sinb Sin®
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Sinpcos® + CoSO
SinD 1t S5in’®




13. Convert 120° to radians.

A. 2m/3 B. 57/6

130°x T _ (2s5T
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14. Determine the amplitude of y =—2sin 3(x — —) +4
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C. 3n/2
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A circle has a radius of 4 cm. If the length of arc AB shown on the diagram is 37 cm, determine

the measure of the central angle 6 in radians.

6a=(06
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D. 3m
16. Solve: tanx -cosx=-2 ,
A. 1.17,4.10

C. 1.17,1.57,4.10,4.71
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0<x<2mn
(B. 1.97,5.32
D. 1.57,197,4.71, 5.32
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17.
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18. Determine an expression equivalent to tan 3 + cot B3.

Al B. sin B cos B @e@ D. sin B+ cos B

TanP oot = cin " Cos 3
CoSR Ssinl3
=~ _sn’B | __Cos™B_
SinR cos 5 SinRCosl
_ S/2R 4+ Cos?f3

Sinfl Ccosl3
— /
Sind Cos3
— ecscfR secld
= Sec @csc@




19.

A wheel with diameter 10 cm is rolling along the ground. Point P on the edge of the wheel is on the
ground as shown in the diagram at time # = 0 seconds. Which equation gives the height, A, of point
P above the ground at time 7 seconds, if the wheel rotates once every 12 seconds?
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20. The point (p, q) is the point of intersection of the terminal arm of angle  in standard
position and the unit circle centered at (0,0). Which expression represents cscf3?
B 175
C. l/p |_’\ D. 1@
Sin® = 9 o
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21. Which expression is equivalent to 6 sin(8x)cos(8x)?

A. sin(8x)  B. sin(16x) C. 3sin(4x) ( D. 3sin(16x)

S‘;n&@ QS!/}‘QCQS&J
Csin(fx) cos(5x) = 31 gw(mm(gx)j O =5y

=5 \S‘sn (Q(Sxm
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22.

Determine the equations of the asymptotes of the function y = tanbx, where b > 0.
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ni . .
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C. x= %+%, n is an integer
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23. a) Solve algebraically, giving exact values for x, where 0<x<2m.
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28In” x =8I x
b) Give the general solution for this e%[ljﬁﬁon.
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24. Give the exact value of cos T
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25. Simplif
Py sin20
A1 B. cos@ C. cscO @
desin® _ s L ATE |
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Siade 25,0 CosO cos® sec

26.

An arc of length 5 cm subtends an angle of 30° at the centre of a circle with radius r, as shown in
the diagram. Determine the value of 7.

© - a

/\ (
Scm P:&
©
r= S

i

G
Mr=49.5¢

A 477
B. 6.00

D. 10.00



27.  Determine the period of y=tan (7x)
@ B. 2 C. /2 D. n
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28. Solve: 3sinx=x+1, 0<x<2n

A. 025 B. 1.87,2.87 C. 0.54,1.54 (D. 0.54, 1.87

: LTy orepeg ok
! ? o = Q_S‘él 1.e F
{ % 7 ’%T e
-3
3
29. Simplify: sin(Tn+ X)
A. sinx B. cosx C. -sinx D. ——(:_6sx
Sin §§+ x) = S“f'n_fgf"cosr -+ 005?775‘;”:(
= (—r‘y cosx + (o)< nx
- —=Cos o
SV
30. Solve: SIN X =SIMXxXCOSXx ’0§x<21'[
A. x=0, =
4
C. x=0, 3_7t,n,7_7t
4 4

Sin* = S/insc cos x
Sintx — S in>xCes3C =0
S‘z'nx(S' - Cosa ) = '

' o : 3 © SinxX = C0s(
Sinx =¢ or Sinx - Cosx =0 or ‘-”3
ON > —oxic Sinx = Qo5 x = <inst 1




31. The terminal arm of angle ¢ in standard position passes through the point (-2, 5). Determine
the value of sec ¢.

32. Determine the range of the function: y=bcos(ax) -2b , where a>0, b>0.

A. b<y<3b B. -3b<y<-b C. b-a<y<b+a D. 2b-a<y<2b+a

33.

Determine the general solution for: sin2x = —%
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34. A Ferris wheel has a radius of 26 m and its centre is 29 m above the ground. It rotates once
every 48 seconds. Sandy gets on the Ferris wheel at its lowest point, and then the wheel starts

to rotate.

a) Determine a sinusoidal equation that gives Sandy’s height, 4, above the ground as a function of
the elapsed time, ¢, where 4 is in metres and ¢ 1s in seconds.

b) Determine the first time # (in seconds), when Sandy will be 36 m above the ground.

_ h=2Gcos T( ;m
J— +29
] B 2% 306 u],% ( )
by 3C=2¢sip(TLEZ12)) | 4q

=2 M= 4.1
sin x Sin x

35. Find an equivalent form for the following: — -
l1-—sinx 1+4sinx

Commo 1 é? Nomipctor =7 (l - SEmr\ (H-?M Y\
A. tanZx B. cotZx D. 2cot2x

Sie(rsine)  _ sigud (=sind) -

(1—%1\(1%7;\ ((=sino)(i+sinx)

Sinx + Sin’x

Sinx —Sin‘x

| = Sin*x | = Sin?x
Sinx +Sin* > — Sia + Sinfx  _
| - Sin* B
Asin?x
Tcostx



36. Convert STE radians to degrees. Do NOT use a calculator.

A. 60° B. 120° C. 300° D. 330°

ST . 150
3 s

-

= 66

37. Solve: sin2x -cosx=1 , 0<x<2x

A. 0,5.07 B. 3.14,4.32( C. 3.14,4.36)D. 0.42, 1.89,2.95, 4.21

(jrjk ?iSr‘nax-Cng intersection po: ‘nts

Q/\:/ﬂ % fad [ﬂ_i_fFSC?C'l{_i\on O\_t QC = 3 H( L/L 3¢

Po nts usmj ch«FLFmﬁ

cale

-5
38. Determine the exact value of cot _n Do NOT use a calculator.
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39. Determine the perlod of the function f(x) = —Esini.
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40. Solve: 2sinx+1=0, 0<x<2xn

tanfcsc’ 0

41. Determine an equivalent form for the following: 5
sec” 0
A. tan@ ( B _oﬁ. C. tan’ 6 D. tan’ 6
\\_H_— __//
+on 6 050 .
Sec *©
_S+B l
CosS®© Sin®
\
Cos*O I
\ i costo _ (oSO [T 4
_ 55858 = esOsiae | 508
l

cos?O



42. Simplify: cos(m - 2x)

m B. -sin 2x C. cos 2x D. sin 2x
CoS M — fb{\ = CoSTCOSAN 4+ SinT Sin2x

= (=N cos Ax + () 5in2x

= —Cog A

43.

A wheel with radius 20 cm has its centre 30 cm above the ground. It rotates once every 15 seconds.
Determine an equation for the height, 4, above the ground of a point on the wheel at time ¢ seconds

if this point has a maximum height at # = 2 seconds. p=15s I, ~+he point moves
s P_%ﬂ ‘c!c_ oS '£€ circle 7in
A. h:20cosz—n(t+2)+30 h=t/ ¥ I b=g7,20 3.3
15 = 3o 27 -2
P e P (O ¢ I E
'B. h=20cosZ=E(r-2)+30 ) e oL AN - -
(\ — 15 Y Pigease 0 PeT
C. h=30cos2E(1+2)+20 -
o 15 o5 qs0 (3.3 17

D. h= 3000s%(r—2)+20

l 2
l’\:C\COS(b(t— "lm\ + k
h=20cos( &= ;tg:j 130

44.

. . . . ..T T 1lnt
Determine a cosine equation that has the following general solution: b +nm, 3 +2nm, ra +2nm,
where n is an integer. cos x (;Cos X - ) 2 =0

Cos 7 =0 o ;CC}Q?C- — 43 =0
A. cosx(2cosx+«/§): ’ Cos = )3
on Y- ax 'S o

B. cos x(2 cos x + ﬁ)

@ua:au\ i er F
C. cosx(ZCosx—ﬁ) l B §,_ G ‘Ekﬁ
L

= i 2“ ) __,r...r
D. cosx 2cosx—x/§) 0 2 O\C"“:Q *-‘E
c:jeﬁer‘ai =)= T +7 x = T QT_{

0
0
0

)
/Ig/‘; fj »]-i-fin —)(:’,r?-g 127 _ T
g}er)c:LaewLb ©'e 6
4 ecusa [QnCIG\.OTU o = T LT
(o jou Fo he cight £

answel | 4= (o= 74 g7 "
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45. Solve the following equation algebraically.

3cos2 X+ cos X -2 = 0, 0<x<21t
(’5%33(— ;ﬂ (Cosvc + ﬂ =0
BCOSY—Q‘:D 6r SoSA+H| =0
Cosx = 2 Cosx = —|
Q‘J‘ﬂcj / Er L/— on ﬂ-:?ﬁ PE-IEEN
@(< x\: 0.%Y o’ =T

A=6.%¢% 27 - 0.8¢
X=0.94 S.44

. sin26
46. Prove the identity: (CSC 6-sin 9) tanf=——

cscOfand - Sind +and 2sinf
L Sib _5ip. 5ia0 | Asic@cosB
$in® CosP TS _________é,___——
. | _ Sin%0 }2/4:39
cosO C 058
I-—S‘.r-nzfg
Cos B
C‘c‘sl@
oS ©



47. Evaluate to 2 decimal places: sec 0.89 — /n redians because no "'c\"ejrecsv“ Sign
|I o

Ans: | . S"—q Cos qu

48. Determine the amplitude of the following graph:
Y
A




y
A

49. Which graph shows one period @_: tan x ?
B

1]

T 2n >
50. Convert m radians to degrees.
A — B M o 180
180m 180 m
M X |go° _ |Fom °
m .
. . 375 37 37 -
51. Simplify cos(2—+ﬁ) = (05 - Cos ﬁ - in ’af’ sinfS
- (O\ COSIS - (_'\. S“I“f"l B = S hn |r?)

@ B. -sinfB C. cosB D. cos B

52. Determine the phase shift of the function f(x) =-3sin(2x— %) + %
A. /12 B. /6 C. n/3 D. n/2
f_, —
Slerz-3sin(a - TD)) + §
phase T
shift Ta



53. Which expression is equivalent to  (sin2B - cos2B)2 - sin2 2 ?

A. -2sin2 2B B. 2sin2 2B C. -cos 48 D. cos 4B
(&'}118 - COSLG)Q‘ - S‘l-n? ;2(3 -

(CDSQF-%L—‘ Sin*2B -
Cos?9R - Sin‘af3 =

cos(2(2p)) =
Cos(p)

54. Solve for x: 2tan’ x —5tanx =3 , where 0<x<2r (accurate to 2 decimal places)
2hantx _.g+cmx -3=0
(i+dﬂx + | )(‘ﬁ‘«mx‘ - 3\ —C
Hanx+iz6 or Famx=3=0

-tm:-_% o Amnx =3

CQ Qu&& :-r ol 3
L)L)\G\ 1 o ¢ Z
t %5 @(4:5: (.25
[2("‘5 0.%, o = .25 T A /.28
X =T-0.9c 27 - 0.%¢ X =125 4.3




55.

For what value of x is the following expression undefined?

IS&’ where 0 < x <2m
+ cosx
0 where \¥cosx =0
Cos> = - |
B’ E i
2
| —
€ _® NP
D. —
2

-\Isec2—1 B j;+an21' - :{'ﬁrr:(  Fany

56. Simplify: -\I - - — ]|
csc —1 \E;{‘Z;( CoC X _ _

P Ten X
Ir//A. taﬁz_i\ B. cot2x C. tan?x D. cot4x

o = tan'x

_ L ,
= faprx - fanx

/

57.
Determine the value of sec © if cot® =—a, where a > 0 and sin 6 < 0.
cet is neg means +an is ne

‘\‘an i< n(’j i< Quadp < jsr@ guajgb(@
(S in ﬁuﬁ&Q *

O«nj[C‘
cwto=2 - 2




58. Which of the following represents the graph of y=3sin2x -1? om,

B.

p= di

II(
s
VG{& & s

- 3{ -J”f
J

-3

= 7

p ! Cp{)uun

®" ;
A A
3t 3T
> x
A T 1
34 34
C. y D. y
A A
= S/ 5]
7_ | | | | L T
T T T T > X
v 1 n 1
-3+ 34

59. How many solutions does sin2 x = 1/3 have over the interval 0<x<27 ?

Al B. 2 C.3 @
Sinfy = N Sinx = | Sipx = = (
N 3 53 J3
Sinx = + | Quad | or 2 Quad 3 o¢ 4
g
K("(DC\: 0.62 (2(‘“:)(\) - O L2

x = o.cga)"l.s‘g

L{h ) /I utien S



60.
2tanBcot 20

(Cc‘;‘:.@ —Sm@) _

Which expression is equivalent to ?
s, N l+tan®©
2-’%.;@}%05“.' \ EWMB)
A. 1-tan6 _LC‘?S—_S (502 |
[ ++anB

ASin Q(a:os‘sa—gin’fb

1 : - C.D‘;_g
B' _— ngﬂg CoS Q l _ ‘I;Qﬂg
Coslﬁ—ff/pzﬂ
1 Cos?8
C. |+ tan 0 | 4+ +anb
+tan Cos?o — 5,20
Cos?g (i +‘f"2;um95
D 1 Coso ~<Sin’@
) tan O Cos?® 4 CoS@ S/ 1@

61. The function y =acosb(x —c)+ d is graphed below. Determine b.

Y = Q7
A P==—
b
T 37 &
4+ ¢ 3
s P
ARE N7 ™
—4 4
1
A.3/5 B. 3/4 C. 8% D. %

Cos & (Coae/'kimrsl)
Cos®-5in@



62.

Which of the following is the graph of y =—sin2x, for 0 < x <2w?

&m =
A. y ?_f~%f 63) y
A A
1+ i

L.
o

AN N IIVANA

2n

63.
Determine the equation of the following sine curve.

Y
A (a )
2 ¢
Q—n
f f / » X
o [\ Ja de.
a2 =

. a
= — —
B. »y asin—x N

C. y= %sin%x

D. y= zsmz—ax

2n



64.

A cosine curve has a maximum point at (3, 20) and the nearest minimum point to the right
of this point is (8, 4). Which of the following is an equation for this curve?

do /j;a

12

A yzScosz?n(x+3)+12

L{
2n N ‘ |
B y=8cos=n(¥-3)+12 T 3 g s
3 = oces (o) 42
o0=9 b=27_ 2w _ I
C. y:8cos§(x+3)+l2 ,Jﬂ v T
4 =12

If the point (1, 2) lies on the terminal arm of angle 0 in standard position, determine the value

of cos(m+0). 2 ISP S
/

) r?- 12 42
A _—5 ri= s
. = S:_
. _1
- ﬁ -Coglf'rr’-i— ©) = CosTCos® = SinTSin8
—_ ) = () cos© = [0)sin®
c. o = ~cos ©
> Cos® = x — 1
D 2 r OEy
VR _cos o = -




Scholarship Questions! Nasty, with big fangs and sharp teeth! Be careful!

. . sin2x
66. Prove the identity: —————=2csc2x —tanx
Qsln'x coS X Sindoc [aN<B T4
S\f. x
f‘(l"?S!nzDC) oS - L=
2s5/anC COTC Ces 2C
__Qlaﬁo_Si(___ = | _ Sin X
Jsin®*x Qind cos> Sinx Cos>C
CosS x l— S".;na)C
 l=sin¢
Sin a0 . Sin X cos X
@ COS:_)(
_Cos >
S/n X €OSx¢
Cosx
S-/\/?_D(

o



2 2
67. Solve algebraically for x: 4 Sin X = 3tan X _1 , 0<x<2m. Give your answers as exact

solutions. L2 ) -2 . 2
co§3X° (Lr*g”] X) = (gS;n < y) Cos™x

CoS?x
fsin®xcos?x = 3Zsin*x - cos’zm
| . . .
4six (1 -sin‘z) = 3sip*zx — (1 -sin*x)
Yoin>xX = 4sin"x = 3s/a*x —1 + sin*x

W -45;}:41 = A —/
/

—4sifx = -
Hsin"> - =0

(anﬁx 1—!)(2 s.n2x —-{) =0

Q‘Sz’nl';(-f"/—'-o o Qsén:"x’——/—_o

Sin*x= -1 Sin?x =_1
- 2
ne sofa‘l'}on SinxX =+ 4
4i2
Sin= = / Sin> = — {




68. Solve algebraically: sin 2x = 2cos x cos 2x, 0<x<2m. Give your answer
to two decimal places. Idsinxcosx = Qcoasoc ( /= 2sin’y §
Nginx CosSX = 2cosH — Ys;n?¢ cos >¢

Yei 2y cosx + 2sinx cosx = 2cesx
Y sint cosA + 2SinX oA — QoS =0
A Cosx (lsinzx + sinxy - ﬂ =0
dcosx (Qsmx — | )(smx + I) =0
Ncosx =0 o AsinxX - =0 or  SinxX+ [ =0

l '—:"I— r Sfﬂ = -
Cos2=0 or Sinx 2 o X [

-=
7(_:1( ﬁr {2({)():/“/? .
2 >( = s
l) l 9(:!/1’ S‘ﬂl ¢ —:2"""



69. Change the equation y = 6sinxcos’ x +6sin’ xcosx — 3 to the form y=AsinBx + D , where
A, B, and D are constants. 3; Gsinx oS (COSDB( 4 9},'”1:(.) -3
g = Csinx coSao - 3

? = g(ﬂsm:(cosxﬁ -3




70. Solve algebraically: sec x + tan2 x -3cos x =2 , 0<x<27. (Accurate to 2 decimal places).
sec®- Seanf+(5‘ec’~x -0 - 3 \:@) .eec X

S‘QCZ(III!
Sec™x + Secjsc - S5S€exX -~ 3 = Asecx
Sec®x 4—sec®™ - 3seex —3 =0
Sec’x (Secx +fj — 3(secx t1) =0
(secx +1) ( sec?x ~2) — o
Secx + 1 =0 oc sec’xr -3 =0
SCC - = = | S@CQ‘X p—n 3
[
CoS2dA = - } COSD‘:(" = 3
| 2 _ l
Cos 2 = ___§_
7 /E g Cos x = =+ |
AN A
J3
=T Cosx = | cos= ==|
=314 53 D3
O Quad 1 oc ¢ Qwﬁ,ﬂ&’f OFI’:!‘
' _ RE=) = 0.9
fz(éﬂﬂ—f).‘?(a oC:’TT:O,i?é_'”’*‘O-gé

A= 0.96 9‘;7'—0.9@



71. a) Prove the identity:

1—sin*x—2cosx 1

2
cos x—cosx—2 1l+secx

b) Solve the following equation for x, 0<x<2r.

1—sin® x—2cosx

2
COS" Xx—Ccosx —2
(0 [=Sin*x - 2cos % _ I
Cos*C - Cosx - 2

Cos’x - 2cosxC
(cosac + 1 )(cosx - ‘;2‘)
Cmsx(gm—/:i)
(cosx+1) @%ﬂ

Cos o
Cosat1|

(b)) \-sin'x — Acosx -

Cos?y —Cosx — 2 3
Cos’x - 2cos X -1
(CD§x+I>(CoSX-32> s
(‘.0536(% 2 - !
(cosx+! CD}‘/"D g

Cos X —I

I
Cos~C + | 5

3cosok = —I (CDSDC”L‘)
3cos = = = Cosx —|

Heoene = —f
Cos X = |

[

Ou\o»co :j_-ll'_- o C

L

Plex= 1.32

x = T ~1.32 7+ 1.32

XL = l%j) le"Z

1

— ——, accurate to at least 2 decimal places.

| +secx




72. If the infinite geometric series 1— sinx + sin’ x —sin’ x + ... has a sum of 2, what is the
smallest positive value of x? Give your answer in radians.

o= S = &
= -Sinx l_r.



1+cos260
73. Prove the following identity: %@

|4+ 2cos™@ -1
2
Qcos?O
2




74. Prove the following identity: cos46 =Rcos* 6—8cos’ 0 +1
Cos 10

Cos (264 0)
652006520 — SindO 5in kD

(Qcos"zg ~f)(9’co‘.~.‘2@ - ’3 - @’:{x’r;!‘?‘a.’ostibl
QCQSL.'LQ - 2cosO-QcosB+ | ~ (.Q 9949&)593
Lf-co-s(’f'g — 40}57‘9‘{'{ - 45;'429605'2_9
leost® - HYeos®@ +( — éf/f— 005-2@)%5‘7'9
L(-eog‘*@— - Leos?O +( = Ycos?O -I—C/co_q‘/}g

gcas‘fQ — Y cos™O + |




75. Solve algebraically. Give your answer to 2 decimal places.

3sinx=4+4cscx 0<x<2n
Siax: (B«sfn'x\f Y4 4 \"Siax
Sinx

3sin*x = Ysinx + 4
3sia'x =Ysinz -4 =0
(’Bgr‘nx +25/§£nx -2 5 =0

3sinx+A2=0 of  SiAX -2=0

Sinx = =2 SinoC =2
3 no S’G(U\‘{‘TQA
Quad 3 or ¢

o

R(xx) = 0.%3
Xz T +0.73 am-0.73




76. a) For what values of x in the interval 0<x<2n is the following equation undefined?

(cos2 x) =1

cosx
log, -

b) Solve the above equation for x (0<x<2m). (Accurate to 2 decimal places)

(Cb 2 VQlues Sucﬁ ‘qu‘{' CoSx -« o aw-.cQ

2
¥ values Sach cos?x 2 o
_ Cosx _ | = cos™
y 0:2. = - €S J x

° eu\m‘t"" <

"w?’ﬂe?merﬂ for
(b \033(1—) \ (Cos:cx =1
log ( ‘;};) -
\033(22:;5 =

Co%if = 3
2 cos X
- 3
D Cos X
| = £ cos ¢
Quaoo I o r (’(

—

RE=) = .40
x=/.%, 2T - /.%o
— 145 457

*



Answers: 25.
26.
27.
28.
29.
30.
31.
32.
33.
34.

S B R R ol
S A Cc oo AT D a0
=

—_—
[a—

13.
14.
15.
16.
17.
18.
19.
20.
21.
22.

23.

24.d

S a0 o0 o oo
=

2n

[
!
S
!
>

35.
36.
37.
b)x = 2t 2nm 38.
3 39.

40.
41.
x=04+2nm 42.
12. see solution sheet 43,
44.
45.
46.
47.
48.
49.
50.
51.
52.
53.
. x=1.25, 2.68, 4.39, 5.82
6 55.
56.

57.

b)x=nmne l 58.
59.

X =4—Tc+2mc
3

T 5T 54

’ )

I
=)
a

]

X :§+2nn,n el

5
X :?n+2mc,n el

o o 0 oo oo

a)

T
h()=-26 — 29
(0 cos(24 1) +
b) 14.1s

oYy OO0 oo 6 o o0

o,

x=0.84, 3.14, 5.44
see solution sheet
1.59

b

b
d
a
a
d

o e oo

60.
61.
62.
63.
64.
65.
66.

67. x

68.
.y =3sinQx) -3
70.

71.

72.

73.
74.
75.
76.

ooy oo e

see solution sheet

x=0.52, 1.57,2.62,4.71

x=.96, 2.19,3.14, 4.10,
5.33
a) see solution sheet
b)x=1.82, 4.46

_In

6
see solution sheet
see solution sheet
x=3.87,5.55
a)undefined for
T 3r

— < x<2—1b)1.40, 4.88
2 2



Note to teachers:

The questions here come from a variety of sources. Some come from Alberta provincial exams,
or are based on questions from those documents. The scholarship questions at the end come
from the BC scholarship exams from 1991 to 1996. Most of the multiple choice questions are
based on provincial exams from 1994-1996, but I have tried to change the numbers where
formatting was not too large an issue. I haven’t put many trig identities on the written sections.
If you want more trig identities, go to the BCAMT website and download Mark Garneau’s
outstanding list of all of the trig identities from provincial exams (it goes back a dozen years or
S0).

I generally hand this out at the beginning of the unit (including the answer key), and I collect it
the day of the test. I flip through the booklet just to see if there is writing on each page, and I
give the students a few marks. During the unit, I have a few photocopied solution manuals
(showing all my steps) floating around the class as well. Students can sign them out and take
them home if they wish.

If you find any errors in the answer key, or have any suggestions that I could add, feel free to
email me at kdueck@sd42.ca and I’ll be happy to reply.

Kelvin Dueck
Pitt Meadows Secondary

PS Thanks to Gretchen McConnell for helping with error checking my answer keys! It’s been
much appreciated!



